1223F5

Nr Element z
2 (@ - W6x60 10
5 {@ DIN985 | M10(OC) 24
10 DIN 9021 6x18 96
13 { —) ISO 7380 |  M6x20 20
15 — 1SO 7380 |  M6x30 80
(7=
16 BN - K1_d21 B 152
17 jIS - Z1_d21_B 152
18 O DIN 985 M6 (OC) 88
19 —— 1SO 7380 |  M6x40 4
21 DIN 125 8x16 166
22 DIN 125 6x12 108
25 —Do IS0 7380 | M6x35 6
28 [ ] ISO 7380 | M8x25 8
31 {0 DIN985 | M8 (OC) 32
.
43 @© DIN 1587 M8 32
44 ( ISO 7380 | M10x25 24
45 [ ] ISO 7380 |  M8x30 8
47 6 DIN3017 | ®33,7 4

1/3




1223F5

Nr Element 2
51 —— ISO7380 |  M6x45 6
58 % - LOCTITE 1
61 H - KL105 159
84 [:I] ISO7380 | MB8x35 32
88 @ - ALUZ RR 16
109 @) DIN 913 10x10 2
116 ) ISO 7380 M8x55 12
124 I— DIN7991 | M6x20 10
147 )W) i M6x10 66
210 : ] DIN 933 | M8x40 (OC) 18
213 @ - Z_NA_1 1
214 @ ; Z_NA 2 1
218 NP 8x16 20
240 : ) DIN 933 | M8x25 (OC) 32
241 ) DIN 933 | M8x50 (OC) 2
i | 2
o
243 ﬁ ] UCHW_114, 48
244 @ ; Z_P 1143 12

2/3




1223F5

Nr Element z
245 D || DIN 7991 M6x65 48
246 @ - MAS_114,3 5
249 NYEOR | 10x20 24
250 Hunie DIN 7504K |  6,3x32 8
261 % DIN 1481 8x40 1




